Go to '

Clerk of the House of Representatives Legislative Resource Center B-106 Cannon Building Washington, DC 20515

Secretary of the Senate Office of Public Records 232 Hart Building Washington, DC 20510

SECRETARY

05 HAR 30

LOBBYING REPORT

2. Address Check if different than previously reported 818 Connecticut Avenue NW City Washington, DC 20006 State D 3. Principal place of business (if different than line 2) City State City State City State/Zi Ba. Contact Name b. Telephone number	por Country c. E-r	Zip Coo	ode 200		6. Hou	ise ID#	y 55-36 95000
818 Connecticut Avenue NW City Washington, DC 20006 State D 3. Principal place of business (if different than line 2) City State City State/Zip a. Contact Name Prefix Full Name Mr. Walker Nolan 202-728-1010 wnola Client Name Self EDISON ELECTRIC INSTITUTE YPE OF REPORT 8. Year 2004 Midyear (January)	por Country c. E-r	Zip Co Zip Co mail	de 200		6. Hou	Country ate ID # 589 se ID # 3529	y 55-3(9500(
City Washington; DC 20006. State D 3. Principal place of business (if different than line 2) City State City State/Zi Ba. Contact Name Prefix Full Name Mr. Walker Nolan 202-728-1010 whola Client Name Self EDISON/ELECTRIC INSTITUTE YPE OF REPORT 8. Year 2004 Midyear (January)	por Country c. E-r	Zip Co Zip Co mail	de 200		6. Hou	Country ate ID # 589 se ID # 3529	y 55-36 95000
City State City State State/Zity	por Country c. E-r	Zip Co Zip Co mail	de 200		6. Hou	Country ate ID # 589 se ID # 3529	y 55-3(9500(
City State City State State/Zi la. Contact Name Prefix Full Name Mr: Walker Nolan 202-728-1010 wnola Client Name Self EDISON ELECTRIC INSTITUTE YPE OF REPORT 8. Year 2004 Midyear (January)	por Country c. E-r an@obblaw.	Zip Coo	de		6. Hou	Country ate ID # 589 se ID # 3529	y 55-3(9500(
City State City State State/Zi la. Contact Name Prefix Full Name Mr: Walker Nolan 202-728-1010 wnola Client Name Self EDISON ELECTRIC INSTITUTE YPE OF REPORT 8. Year 2004 Midyear (January)	p or Country c. E-1 an@obblaw.	mail com			6. Hou	ate ID # 589 se ID # 3529	55-3(9500(
Cny State/Zij Pa. Contact Name b. Telephone number Prefix Full Name Mr. Walker Nofan 202-728-1010 wnofa Client Name Self EDISON ELECTRIC INSTITUTE YPE OF REPORT 8. Year 2004 Midyear (January)	p or Country c. E-1 an@obblaw.	mail com			6. Hou	ate ID # 589 se ID # 3529	55-3(9500(
Mr. Walker Nolan 202-728-1010 whole Client Name Self EDISON ELECTRIC INSTITUTE YPE OF REPORT 8. Year 2004 Midyear (January	an@obblaw.	com	OR		6. Hou	589 se ID # 3529	9500
Client Name Self EDISON ELECTRIC INSTITUTE YPE OF REPORT 8. Year 2004 Midyear (January	- 1		OR			se ID# 3529	9500
YPE OF REPORT 8. Year 2004 Midyear (January	1-June3()		OR			3529	1406 (344)
windy car (January	1-June30		OR		End (b)	eris rapa (alegeria).	14000000
windy car (January	1-June3() 🔀	1	OR		· End (b.	ly 1-Dece	mhaa
. Check it this fitting amends a previously filed version of this report	y			Year	TIM (10		THINCT
O Charles at the second	1	J					
0. Check if this is a Termination Report ☐ ☐ Termination Date					11. No	Lobbying	Activ
NCOME OR EXPENSES - Complete Either Line 12	OR Line 1	3					
12. Lobbying Firms		************	13 (Irgania	zations	·	
COME relating to lobbying activities for this reporting period	EVDENCEC.						
15.	EXPENSES r were:	eianng	g to lobby	ying acti	ivities fo	or this repo	orting
ess than \$10,000	Less than \$10,	000	噩		•		
0,000 or more 区 ⇒ \$ 40,000	\$10,000 or mo	1	trans.		NOSO: POR CONTRACTOR	oombassanaas oo	
	\$10,000 OF INO	re [.	> \$ _			
ovide a good faith estimate, rounded to the nearest \$20,000,	14. REPORTI	ING M	(ETHO	D. Chec	k box to	indicate o	expen
yments to the registrant by any other entity for Johnying	accounting me						_
tivities on behalf of the client).	Method l	B. R	Reporting a	amounts :	under sec	A definitio tion 6033(1	
	Method (71	ntemal Re	venue Co	ode		
	may iviculou (Reporting a Revenue Co	amounts 1 ode	under sec	tion 162(e)	of the
					 -	E	<u> </u>
Wollsen F Nola	$\sim m$	lan.	1. 14		2 ma-	Form	Colu
nted Name and Title Walker F. Nolan, Attorney	ų ·		-	3/6		ر	

LD-2DS (Rev. 4/03)

	***************************************		ch co
5. General is	sue area code UTI - Utiliti	es (one per page)	
6. Specific lo	bbying issues	Add page to continue specific issues description for this iss	F
Electric Re	structuring	godine issues description for this issues	ue ja
'. House(s) of	f Congress and Federal ag	gencies contacted Check if None	
Senate		Check if None	000000000
House of Re	presentatives		
	h individual - 1		
. Name of eac	e mainimai who acted a	IS a lobbyziet in this icons	
. Name of eac		as a lobbyist in this issue area Add a page to continue additing lobbyist.	s for th
First Name	Name Last Name	Add a page to continue additing lobbyist. Covered Official Position (if applicable)	s for th
	Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name Nolan	Suffix Covered Official Position (if applicable)	s for th
First Name	Name Last Name Nolan	Suffix Covered Official Position (if applicable)	s for th
First Name	Name Last Name Nolan	I was a page to continue acidiling lobbyist	s for th
First Name	Name Last Name Nolan	Suffix Covered Official Position (if applicable)	s for th
First Name	Name Last Name Nolan	Suffix Covered Official Position (if applicable)	s for th
First Name	Name Last Name Nolan	Suffix Covered Official Position (if applicable)	s for th
First Name	Name Last Name Nolan Ch foreign entity in the sp	Suffix Covered Official Position (if applicable)	s for th

I Dane oper tos.

Page 2 of

Registrant Name Walker Nolan					lient N	ame C	CENTERPOINT ENERGY					
Information Upda	te Page -	Comple	te ONLY	where	e regis	stratio	n info	rmation	has chang	ged.		
20. Client new address Address												
City				State			Zip Cod	le	Cou	untry		
21. Client new principal	place of busi	iness (if di:	fferent than									
City 22. New general descrip	tion of client	's business	or activitie	State	••••••		Zip Code	•	Cou	intry		
LOBBYIST UPDA 23. Name of each prev		rted indiv	idual who	is no lo	nger e	xpected	l to ac					
	LESI NEIGE		Suffix	3		First Name		Lasi	Name	Suffi		
2				4								
ISSUE UPDATE				. ,	anteriorada auto							
24. General lobbying i	ssues that no	o longer p	ertain			ind the (code t	o select b	elow.			
AFFILIATED ORG	GANIZATI	IONS										
25. Add the following	affiliated org	ganization	ı(s)									
Name				Addres	SS	**************		Principal place of Business (city and state or country)				
	Address						City					
		C/S/Z Address						State State City	C	ountry		
		C/S/Z						State				
26. Name of each prev	riously repor	ted organ	ization tha	tt is no l	onger	affiliate	ed with	_ #####################################	trant or clie	:nt		
FOREIGN ENTITI 27. Add the following		ies						Error of Property Control (Pro-				
Name	Street Address		Province Coun	1 6		lace of bus tate or cou			it of contribution bying activities	percen		
				City						client		
				State		Country						
28. Name of each previo affiliated organization		foreign en	tity that no	longer	owns, <u>o</u>	or contro	ols, <u>or</u> i	is affiliated	with the reg	istrant, cli		
		3						5				
2		4 /\	1,	_Λ Λ			Participate	6	Add a page fo	or more un		
	W	'alla	m7 1	bla	n	n	eu.	l (C	Add a page fi	э ног о ц р(-		
Printed Name and Title	Walker F.	Nolan,	Attomey									